o> I 2o o!
2 o MNB102-E L.% £ \ 3 MNB102-E
(A'CL"' %\xe o qui ition of furids is known as ...... 4 The ..... reflecis all the possessions of the business, together with their respective )
FA2 d e b Cor - values as at the balance sheet date. g
{‘ O G) ’ *manning . \)395' ,54
(\§ 2, finanecial management \’3{ +1 asset structure
)giﬁ' 3 invesiment ?Qv(&' 2 balance sheet ;
o, Tl - % income statement
2 o Which of the following statements on cost are correct? t e - assetside
0,% ’ o ’-" Fixed costs are that portion of total costs which remains unchanged within the i 5 Which ane of the following options from the income statement correctly completes
e;b "\Q- 0 boundaries of a fixed production capacuty regardless of anincrease or the followmg state;nenw
%;\\0. decrease in production \O 3‘[ €2 L=
Qgﬁ m’ Variable cost per unit is that pornon of the total costs Wthh changes “'Neti mcome (sales) less ..... is gross profit. NB [
W according to a change in the volume produced . L{- . Bl
,5(\ . ¢ Variable costs remain more or less constant xrrespecnve of the quantity : '? q_ (’ returns and cash discount
S @1 produced ﬁd« @ cost of goods sold !
The total costs involved in the production of a specific number of products operating costs ~
produced in a particular period consist of the total fixed costs and the total 4 -interest
variable costs incurred in their production 5 »reserves -
i ac . 6 Ca!culate the total present value of the following cash flow amounts received at the
ad end of each year. The interest rate Is 10%. - ,
-cd L\"B 4 . -
bed, \.\\0 Year Cash flow P e NI -
w2 ! R3 000 o ey -
. W2 R2 000 S
\ q}b' - ' ElcRalc=oy
3&9"\' 3 “R5 000 P Prog
5 ’ \ ‘Di‘sqc}'u'nt ng factors
\‘\}D @ owners’ equity ™ _ PYF
Q‘ \k\ long term dobt Feriods (n) : Tu5% | do% | 18%
Q- (g);: -;preference share ca (tal - N e
za‘a, . i 1 1,0500 | 1,1000 | 1,1500 1 0,9524 30,9091 f 0,8696 |
) 2 1,1025 | 1,2100 | 1,3225 0,9070 | 0,8264 | 0,756t
1,3310 | 1,6209 0,8638 | 0,7513" 0,6575
; 1,7490 . 0,8227 |°0,6830 | '0,5718
A 5 07835 0:6209 | 10,4972
L) ~
3.
~ -R2.000(0, 3 %6k)
L "
¢ @o{(p =~w;3}
o0y ) , 274279 30 + R 1652, o756, 5¢
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L (Breakeyen Formuls)
7, ' Gwen the foliowing informationswhich of the Tollowing calculations are correct
’ -coficerning cost-volume-profit r)\\attonshlps’?
Seliing price per unit = R20 '
Total variable costs = R1 000 N= ﬁ»
H (Qw Fixed costs per unit = R3
Total fixed costs = R600 == N - (D o0
(a)  Number of units sold = 200units - ?@gy 19
(D))  Total profit generated = R2 400 - i
»& % Number of units to break even - .= 50 unité [ 12} N= Lf"O
, Marginal income per unit i LR1E
( .
5 < a b oz :
! @ abd e SRR
cd - T
4 bed - e g
5 a b cd -

K
i AT .
V‘“ w1 "R4000
LT 2 Tt R0
st e :‘.,B\‘_Isooof_d.::

t

) .-Dis‘countiﬁg féctors B
: r «Periods (n)_ | 5% . .4 10% £

Pys mga% ey *f'”RL#G)S3 o
PV = RBSIL. > [TURN OVER]
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«Capital reserves

o ..'Long term debt

- Creditors 7 RS 660 L T a
_ Bank overdraft

Use the following information to calculate owners’ equity. \ ‘
Fixed assets

Motor

price

Current assets |

Debtors R8p000 i {
Inventory 0 000

Shareholder's capital

Ordlnary share capital RBOO OOO -.—-——W R g@ ° oo B
Dlstrlbutable reserves x‘,,.,w-(www ' L

‘R100 000
150000@"’“" P R250 0o

3
e “'L-w\ oo

Undistributed proﬂt

b "’&WJ

Mortgage bond - R/E)Q@’ObO« ?gs'@ @@@ V‘ 'tu“"

Current liabilities

5

fji@@ 000

speculahve motive
profit motive .

-surplus credit

[TURN OVER]
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'1 2 'W'hich‘ of thé following statements on the profit objective when managing stock are
corgect? - e

’

V\"bzq*w The profit objective is to .....
) 9_,’\ », ya ’\/ keep the jowest possible supply of stock‘
gﬁ Vm&»t ) %,/ keep the stock turnover as high as possible

c keep as much stock as possible to ensure that the business is never without
O,P@r stock .
! . d ensure that production interruptions never occur
2 Lwe,
{ @ ab
l ac
f 3 abc
| 4  abd
! 5 cd

Which of the following are uses of cashin a business?

An increase in assets

. Dividend payments to shareholders
A decreasein liabilities .
Investment income -~ Coucee o

| abe .
': o @ abd’ L
Cd ’ . s N
bo : : .
abed ) '

@)

G G0N

Credit terms
Character

[TURN OVER]
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1

15 The terminal cash flow is the expected ..... after tax, which is related to the
termination of the project.

QUUT 21

net cash flow

project profit
{3'1% -2 total cost
?a é profit

16 Which statements about cash flow are correct?

The annual net cash flows are the net cash flows after tax

The initial investment is the net cash outflow at the commencement of the
project .

The life of the project also means the economic life of the project

The terminal cash flow is the expected net cash flow after tax

surplus units and make these funds available to those requiring finance.
Financial markets
~Financial institutions
@, .| Financial intermediaries
18 The ...is the market in which financial instruments of a short-term maturity are

.S para, 19,2,

'primary ‘r'n_érket W

Q- o secondary market =¥ 10 443+ nare 16,0.1
4 ﬁsrg ) P& Y 2t
2 (?‘ggﬂﬂﬂﬁ PS5 para 19.2.2

U pate 90,2
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19 . As a'sourcs of short-term funds, which of the following advaniages does trade credit 22 Which of the following are positive results obtained by the application of operations
. provide? v management guidelines?
é%\ ' It is readily available 7 ? 7] 8" V” Higher quality N
Q\’" H :i :zfs%r;?iible than other forms of short-term financing V' Lower coste hort ; 80 z \7:’?‘? g
- * s (?; et X -
\Vl% 6 It does not require security s 74 Longer lead time Shoftes

‘\ ;‘

’54 ‘\/ Greater adaptability
20, (e)v Better service o {wa Voeia b}h ty

‘Bsa' lﬁ-’ 1 abcd

Y\\o agg abe
2d @ abde. ' ‘
3 acde
5 bd 4 becde
5 abcde

[ 20 Which of the following aré characteristics of ordinary shares?
j , .

? u,(oqv\ﬁ A @ v The liability of the ordinary shareholder is limited to the amount of capital 23 Which of the following characteristics relate to project systems?

\ A which the shareholder contributed to the business ‘\ ;

B ,\0).‘*- ® Y The shareholder has no certainty that the money paid for the shares will be Qlkq ql-\ ? 83?3::8:3;22 :2 Ewh

’ refunded . o \-Y‘Proguct variety is hi%h
i \0 \/ Ordinary shares in a'listed company are tradeable on the stock exchange Gd '1«0"* % Projects may n/ave different designs ’

) \/ A business has no. legai oblrga’uon to reward ordinary shareholders in the form Q . , !
i . . of diVIdENds  w’ \g 1 - abed . '
{i \o:‘Y . @ R P‘ ‘ﬂ\m aﬁxt ad 9@; mm&w - © acd -
lg; ’ . A £y éﬁ a DW)Q'&N}{) : gd
‘ ‘v . " bec

Dr opartion T Fhe ™
(N

24 Operations management in the business is important for which of the
following reasons'? .

)7
: . , ‘Lm@' rx?h‘tg &
You are grven the following mformatron on the cosFof caprtal of MNB‘CO [t

Comranw%

a0 Amount Cost

Share caprtal (O‘JJ(’!?I ) E
reference share capital ~

u’% q,~ \/ It can rmprove productlvrty ’

\/ It can help the blsiness to satisfy the needs of fis clients more effect |ve|y
3{‘ @ v" 1t can be decrsrve for the general reputation of the business

d W ltwill ensure ﬂnancral success for the business

@ abcl

M a
?)'th«_‘() RE00000  15% % S° fo = stle

' “R300000 5% X "30°% " - 18"
R200000 9% ' 10/ = e
1000 00D OO '._iLgr o
culate the compagxh werghted average

es B Slepy)=
st of each form of G &g/ ?3@7‘3‘%5
,"jﬁwh‘-f:,? 2 ﬁf\ f (N T )

' e,rw?me, m, w @th&@ WC@J&

@232/ | at; s )rfi’wa

f /f's of Total) (3 » ).«
%} e O’f @P’%%)‘ Amoum’t meo?‘tm“\ f Jl)ig:;)mé’ s

(-S) sy i
g‘h&re,(‘a ta) Sooooo 05 [15%wS0h TS5 A i
Prc mmce/ oheredR3 00 606

; 0 '5 5% ¥ 30% 116%0 '
o 1o Term Debb itanndaa +- *{?m »m{? ey B0 _
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Match the ‘operatioris management guideline in Column A with the corresponding
. positive.result in Column B.

Column A
{Operations
management guideling)

Column B
(Positive result)

Do 1h§ngs right the first time ~\® Lower variability

Higher quality

Qoo oo

Do things right every tM )X [ Greater adaptability

a-(@® b - (i) c - (iii) d - (iv) »€-(v)

@ ca-(i) v «b-(i)v sc-(iV) v d-(Wv o)
3 a - (i) b - (ii) c- (i) d-(iv) e-(v)

4 - (iv) b-@ ¢ - (i) d-{v) e - (iif)
5 - b -{iv) ¢ = (jif). d- (D e -

Which of thefollowing statements are correct concerning the classification of
operations processes in manufacturing businesses?

(/ \/'Project systems represent operations processes which are highly individual
(b} v Jobbing systems normally represent operations processes conducted on a
small scale
»¢ X Continuous or repetitive systems represent operations systems in which the
, output volume is low .
/ Job-lot systems are 8 combmatron ofa repetitive system and a jobbing system

1 abcd
A 2 cabgc
@ abd
4 becd .. it

[TURN OVER]

Do things cost effectively (n') v - &
Do things fast \%m)\r Lower cost G et ""M“fa(‘ “(
Change things quickly, iv) & JShorter lead time —¥

27

'L.

ﬁ
29 Arrange,\order the steps for the layout and flow of the manufacturmg/servme

GE

50
Qg@'

- 11 _MNB102:E
3
Which of the following characteristics are correct concermngumghat are
rmfs against services provided?
R e S ]
Physically tangible ?fb ducts Sacvie g5
Low client contact @) ?r\'t&wg h{e
Long response time
Capital intensive C5>/ Low Cl, Hlﬁ h Clignt
(&
1 abce
2 ab Lé}
3 cd
bed
abced

A jeweller is an example of a ..... system?

project
jobbing

3 job-lot

4 repetltwe

provision facility in the correct order.

Selecting the basic layout type %
Detail design of the layout 3
Selecting of the process type 1

1 abec N
n’?’ 2 ach

3 bac

4 bca

© e

{TURN OVER]
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) 30 - Which of the following types of layout form the four basic layout types which depict
% 2.3, A ,the general form and arrangement of operations facilities?

s%or 9

Q5" 8

The fixed position layout 4
The network layout

The product layout ¥

The cellular layout ¥

The process layout v

e}cd

1 acd

2 abc
abde
| acde
i ) bcde

Which of the following activities are performed in order to reconcile the volume and
timing dimensions?

a Execution of tasks
Loading of tasks v
Sequence of tasks

: Scheduhng of iasks \/

1 - abcd
2 . be .
bed .~ ° NP

s

Arrange the flI’ST ﬁve steps of qualsty planmng and control in the correct order.

4 Defining the quahty characterlsucs of the product and service

2. Measuring the quality characteristics of the product and service

1 Setting standards for each quality characteristic of the product and service
Y Controlling quality against the set standards
g
13

Identifying and recttfymg the causes of poor quality

y nkthuow&tm

: thuaws ;bmva«mm‘t aof oyuahty

~cabde

»abcde -
dcaeb:

. eabcd

(TURN QVER]
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33 Which performance standards are generally used to measure operational
improvement’?
« 6 \/ Historical standards
\' 20 ¥ Target performance standards

‘/Tne performance standards of competitors
Absolute performance standards
The performance of suppliers

g Jd
-

@ abcd
abde
3 acde
4 bcde
5 abcde

34 Which of the following failures are typical failures occurring in operations processes?
‘a v Facility faillures == m’ae,h P s, &0 Lt f) frand

-b v Design failures = \t\ Yoo thd )pmw‘%ﬂm&

~¢ o Stafffailures = raisloes wage

4 "/ Customer/client failures w

wat praduet on earrest by 4 /
f’“??hgr ,faﬂu«.& \‘w / X
a N
2 ad .@-\*ﬂ dm««“ﬂ
3 bed of oY
w
“4 abecd / ‘\J\g O

35

Qg\'L

Qg;%

Which of the following statements on total quahty management (TQM) are correct?

a ¥ The responsxbmty for quahiy is conﬁned only to the operattons managemem
function © ¢
s/ Quality is one of the main elements for addxng value 1o products/ services
/c v Quality is one of the main elements i in obtalnlng a long-term competitive
advantage over competitors = -
“d \/ Better quahty influences income and cost

1 .acd
ab .
‘bd

it

[TURN OVER]
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36 Whioh’of the following statements on purchasing planning are correct?
O a’ V/,Purchasing is a service function
(;‘3 \‘\A ~b \/Purchasing planning is subordinate to business planning
Q' - * Ve \/Purchasing objectives are subordinate 1o business objectives
fl,- Jd Purchasing planning should be conducted in consultation with other functions
((E 1 ab
h 2 bd
| 3 acd (
~4 bed z
i G abed
37  Which of the following are criteria for gauging the effectiveness of the execution of

S ot 1w
a5 corresd, (f),"i‘.”(?‘)“
; G\auié) }}{, Q/QQM/\,W:‘.{,(),\

)¢ wrreed ), (34

A, mﬂm&

purchasing activities?

wv

fa ¥ To investigate purchasing cost
')f b »¢ To calculate the production capacity -
¢, To compare costs with those of previous periods
d \/ To investigate the number of orders and requisitions

+
/

ad

‘acd
] 3 becd.
A 4 abcd

The purchas‘i_ng function should perform which of the following activities?

a ¥ Choaosing suppliers

/b 7( Comparing the prices of the business with those of competitors in the same
field :

s¢c ' Warehousing of products purchased

-d V Determining the quality of materials

' ~a
a.c.d
’ abc,
ng 4 bd i

-
o 39 Which one of the following is not a purchasing management function?

to t S "; '3 5 \/4
'5-7'*13'1 v Supplier selection =% 258 Y o %5
235 2 . Negotiation 5 ?\ “S%g S v W A Y e ; p
3 ¥ Transportation inwards =
34 Y Materials handling 7( — P' : [ .; poLre, 23.3.7%
o .

Raneaned st P.S’éb ; @m"cv, %39
OW.F%.W’(VMJ P P‘ AR ;’ PMIA 23 8
T\M‘!f\g?% @V’r&‘%&o P P.gﬁ%j\ P?m*’?«%?’
prml"“ﬁrDtWW ~p Pi6bL) Puse 2k
CQWMMM;; ey (0§54 posn 023, Y
&‘:‘*ﬂ’wfmﬁfj Telauia vy P frarn . 3.3

PR e
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b

¢°

41

42

(53

g{ﬂ,‘)ﬁ '

43

'zﬁ&

15 —MNB102-F

Which of the following factors will determine the status pf the purchasing function?
g1 = Value @f Purchased raot
“a v The situatior in the supplier market
“b 4/ The size of the business
“¢ v The nature of the material or products purchased
sd ' The perception of top management

~ Rpproaeh to the ;Mﬁf@fgrmﬁm @7( aetivities o/

(%

2 bd

3 acd
bed

@ abed

Which of the following are sub-policies of the purchasing policy?

a \/ Policy in respect of ethical purchasing practices
b v Policy in respect of internal purchasing matters:
¢ 3 Production policy

d v/ Supplier policy

1 abe , /
@ abd
bcd
4 abcd

A is particularly suited to a business comprising geographically dispersed plants
where purchases are made from a variety of geographically dispersed suppliers?

Al

» centralised purchasing structure
v decentralised purchasing organisation
3 combination of centralised and decentraiised
Which of the fonolwing aréldisadvantages of too much inventory?

7 a v Operating capital is tied up
+b ¥ Losses interms of depreciation
¢ ¥ More urgent orders
d V4 Bigger insurance premiums
! ab
2 abd
@ acd
cd
5 abcd

[TURN OVER]
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. Price liss
v Quetplisnt

44

A bu.yer is likely to obtain the most favourable price by

.

using post-tender negotiations
conducting negotiations N @'L lé?'{ (oM
obtaining quotations

4 comparing price lists

i

/w elf

17 | -MNB102-E

48

Which of the following statements on the influence of inflation in purchasing are
correct?

ya
Yo

In the past, suppliers could recover casts from purchasers, even if the costs
arose from supplier inefficiency
Non-fixed price contracts should be avoided

47  Which of the following statements on determmmg quahty as a purchasmg activity are

carrect?

. “a N/ Specification may be used in the description of quality
"5 b Oualny does not influence inventory holding . .
c Inspectron is the task of the purchasing department
«d ‘l Standardisation of products and their quality increase competition in the
_market

®

3
4

Tnsp

ad
abc
bcd
abcd

[TURN OVER]
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Jc Suppliers must substantiate any price increases they wish to make
Place the last four basic steps in the purchasing cycle in the correct order. el +®€$&Vl@ Jd  Htis unnecessary to include labour as a variable component in non-fixed price
.. N e
\ Receipt, distribution and inspection 2 C;M)vb@f 1) 5, S\A,(a(y(um contracts
b 2 Handling errors and discrepancies »
:lﬁ ¢ 4 Closing the order 3¢ Maeondy ow (ides ; ig
Q\% d % Paying for the order ¥, T afder . 3 abo
1 abcd S %”U,@L«qug b e b . é be
D achbd {a RWL{YG C)W’gl‘hé{'_;, jm‘h 5 abcd
abdg di e “? Hf&MLvAgMﬂM 5ed 4
‘bacd ) ‘ol @Q“é‘ﬁ;( 49  Which of the followmg are areas in whrch purchasing research can be conducted’?
. (:m et :
46  The steps in"the purchasing cycle can be divided into certain phases. Identrf;&t 3% a f T ‘A‘ Research on materials and services
phases. 5/b Research on negotiations in purchasing
% Research on a suppliers market /
% a The notification phase ﬁ Research on the purchasing system
¢ . h V- The order phase X
ﬂ/"b ¢V The postorder phase ab
d The paying phase . acd
C N bd
@ abce s ¢ 4 abcd
2 abd )
3 cd | 50 . as a method of job analysrs is espectally suited for analysmg the job of an
4 abcd .

unskrlled worker

Intervrewmg o
Ouestronnawes
Diary 3

The process whereby new 'empioyeeé are informed, among other things, of the
business’s pohcy, procedures remunerahon and incentive schemes is referred to as

1 employment
~2 induction

3 development

4 training

[TURN OVER]
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52 " Place the steps in human resources planning in the correct order.

a Identify the type of incumbent required to perform the job
b Identify the job currently being performed in the business
c Identify the number of incumbents who will be required in future
1 abec
2 ach
-3 bac
4 beca U
5 cab 5
53  Which of the following statements represent advantages of recruitment from the
inside?
la Career planning by employees becomes possible )
b Thers can be intense personial competition among colleagues
£ The business will have considerable information on a
prospective candidate’s abilities
d Generally, no new ideas will be introduced into the business
/1 ac
2 bd
3 abc
4 rabcd

54  Which of the following statements on human resource management and the
management of human resources are correct?

~a A marketing manager is responsible for the management of human
resources
b A marketing manager is responsible for human resource management
~C The management of human resources is referred to as general
management
d Human resource management is referred to as general management

abced
abc
bed
ac
bd

[S1 00 - N o I\ e
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57

. 19 ~MNB102-E
Which of the following statements are correct?
Recruitment from the outside....
a permits employment of someone with the most suitable gualifications and
experience
“b considerably increases the possibility for innovation within the business
JC is costly
4 does not guarantee that the new employee will be successful in the offered
post
1 ab
2 abd
K] abcd
4 cd
Which of the following statements on selection and induction are correct?
Ja Some human resource managers do not attach much value to references
b~ When the job is offered, the applicant usually has to be medically examlned /
£ The new employee must go through a process of socialisation y
«d An induction programme must indicate which communication channels are
available to a new employee v
X
1 ab &
-2 acd . o
3 bed . v
4 ab ¢ d 4;~*‘°Y
Complete the fo\lownng statemem correcﬂy
Remuneratron represents the and non-ﬂnanciai ... rewards prorided by an
employer for the .... made by employees in fulfilling .... aimed at achieving .... .
1 financiali-intdrsicreffort;iob specifications; sales targets
2 ‘materdak-extringic;-skills; job-descriptionsi-geals
-3 financial; extrinsic; time, skills and effort; job requirements; business

objectives
4 financial.iatrinsiertime.and skills; job specificalions; organisational-profits

[TURN OVER]
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58 Which of the following activities form part of the performance management process?

Identify performance standards through job analysis
Measure performance by means of job analysis

Provide feedback to adjust performance to business goals
Provide leadership to meet performance goals

1 ac
2 bd

3 bcd
4 abcd

59  Which of the following statements are correct?

The purposes of performance management are to ...

‘a achieve organisationat goals
/b provide employee development
c maintain-a happy workforce
“d aid in retrenchment decisions
-8 aid in disciplinary decisions
1 . abcde s
Y2 . aocd
~/3 bde
4 be
a-e

5

80  Which of the following are characteristics of appraisal criteria?

v a
“b
¢
«d

Validity ) .
Reliability -+ .o 7 Lue .
Adaptability - T
Sensmvrty

4

1 abod S

2 «vabe ¢
-3 © abd
4 :becd

(TURN OVER]
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62

63

- 21 __MNB102-E

Which of the following are techniques of job evaluation?

a Determining the contents of the job
~b Job ranking
c Determining the type of experience required by the job
~d Applying the points method
~e Grading
1 abcd
2 ace
3 bed
-4 bde
5 ae

Which of the following issues are considered to be important for health and safety in
an organisation?

Ja Fitness programmes and recreation facilities
“b Nutrition programmes
c Retrenchment policies

Jd Emergency readiness y
1 ac .
2 be .

/3 abd

4 bed

Which of the following form the basis of outcome-baséd education and training?

va / It acknowledges human diversity by taking learners’ differences into account
‘b Vv It takes the leamers needs mto consnderanon

e v/Itfocuses on responsrbmty Ve
d Parents and learners have a say in educatlon .
e / It allows learners to achieve their full potential

[TURN OVER]
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64 - In which ways can'a country attain economic growth?
r ~a’ By preventing salary and wage increases
\) 6 d(ﬁo “b By an increase in resources consumed such as capital, l[abour, raw material
' and energy
'LL(’ 2 "bv c v By more productive utilisation of resources
@gﬁg' dX Byan increase in tax rates to provide the required funds
. 1 abcd
Q 2 abgo
Y 3 ac
bc
bed

) o 2 v
A A
LT

sd V

66

a
e

?-615%{\ Jg
‘Q,w- vd

Identify the factors in training that will increase the performance and resultant
i productivity of employees.

;
2
3

@D
5

" Adequate knowledge of tasks
Employees require gkill to perform tasks

v Motivation of employees

Creation of w to utilise other production resources
effectively

1 ac

-2 acd
3 abe
- becd
@ abecd

In which of the following basic ways may preductivity improvement be achieved? ’

A greater output may be achieved through a greater input

A greater output may be achieved through an equivalent input

The same output may be achieved through a smaller input

A greater output may be achieved through more inputs, but the
marginal increase in output will be greater than the marginal increase in
input . R

ab
bd
acd
bed
abcd
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67  Which one'v, ine following statements is a misconception of productivity

improvement?

Productivity improvement .....

W ,

is a lengthy, ongoing process

is equated with harder work or longer working hours
benefits both employers and employees

4 will lead to an increase in the number of job opportunities

68  Which one of the following actions should the government avoid in attempting to
influence productivity imprevement positively? —
- L#’1 ¥, The creation of training facilities
2 l/ Productivity improvement which supports wage and salary increases
/3 General increase of tax rates to provide the required funds

4 v Making training subsidies available

69  Which of theﬁfollowing statements on entre;ﬁreneurs are correct?

Entrepreneurs .....

Ja¥ are innovators

b % do not take risks
Jo 'V create new products
/d \/ . create jobs

abcd

acd .
3 bcd
4 ad
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70~ Which of the following international business environments ..ust a business carefully
analyse when it decides to do business internationally?

ElllllllilI"Illllllilll"!IHIIIEHII"IIIIIIﬁlhllllIIIlllllllllllllll!lllll.l

Ja The national economic environment
b The International economic environment
- The technological environment

Jd The cultural environment
N The legal - political environment
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